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THIRD SEMESTER

COMPUTER HARDWARE AND MAINTENANCE/
COMPUTER SCIENCE AND ENGINEERING/
INFORMATION TECHNOLOGY

SCHEME JULY 2009
COMPUTER ARCHITECTURE

Time : Three Hours Maximum Marks : 100

Note : i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

Pl B: U &1 DI 7e shHieb 1 (TS
UBR ) A &1 99 meAi o | frgi ot ot
&t BRI | |

ii) Incase of any doubt or dispute, the English
version question should be treated as final.
forft oft TPR & g srerET A 6 ARy A
ST 9191 b WeT P ST AT SR

1. Choose the correct answer. 2each

Hel IR P 9T DI

jou
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i) Inthree state buffer, if C =0 then value of output

15 (Cis sh_uwn as control input)
(a) Highimpedance

(b) Low impedance

(c¢) Medium impedance

(d) None of the above

Three state buffer # af C = 0 a4 HFIeYE H1 74T

=1 B (C T8 et FYC 2)
() High impedance
() Low impedance
(¥) Medium impedance
() SR & § P T

ii) Stack overflow causes
(a) Hardware mterrupt
(b) External intemlpt
(c) Internal interrupt

~ (d) Noneofthe abcwfa
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& stack pverﬂow PR AT B
(37) Hardware interrupt

(3) External interrupt

(¥) Internal interrupt

(3) SR F ¥ P gl

iii) How many 128x8 RAM chips are needed to

iv)

'$/2017/6344

provide a memory capacity of 2048 byte?

(a) 8 (b) 16

(c) 24 (d) None of these
2048 FrEe HHRY FARTS Ietedr axm & fore Rreet
128x8 RAM chips &t srasaesar grftl

CE (@) 16

(#) 24 (8) ¥ q o =&

InDMA the data transfer is controlled by
(a) I/Odevices |

(b) RAM

(c) Micro processor

(d) None of these

oXy g
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. a)

b)

@

DMA ¥ data transfer @ 39& gRT control fam
ST 8

(31) VO devices
() RAM
(H) Micro processor

(7) =1 A g 7

Associative memory is sometimes called as:

Associative memory @ THl-&dt = 919 |

T ST @

(a) Virtual memory

(b) Auxiliary memory

(c) Cache memory

(d) Content addressable memory

Explain shift micro operation with hardware
implementation, 12

Shift micro operation @ I¥d hardware
implementation Hfgd F9EYI

Explain three state buffer with diagram. 6
Three state buffer @t R afea @zl

$/2017/6344 1652 Contd.....

https://www.rgpvonline.com



b)

. a)

b)

- (8)

Explain shift register with its types. 9

Shift register BT I A= HHRI Higd THATEY]
OR/3rerar

Explain Common Bus system.

Common Bus system @1 G915

Explain control unit with a block diagram. 9

Preiel YT P D IS i Teri | T

Explain the following register any three. 9
AeAfRad register BT THeSY (I )

i) MAR

ii) MBR

1i1) Program counter

iv) Instruction register

v) Sequence Register

Explain following interrupts. 9
ffeiRad interrupt @ THSET

i) Hardware interrupt

ii) Software interrupt

iii) Internal interrupt
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c)

(6)
Explain DMA in brief. 6
DMA #! %R & wazmgul |
Explain priority interrupt. 6
Priority interrupt &Y Y9STST
Differentiate between isolated I/O and memory
mapped /O, 6

Isolated I/O 3R memory mapped /O % 7 =R
forfa

6. a) Write a short notes on memory hierarchy. 8
Memory hierarchy W %if3r feoquft forRad
b) Explain Auxiliary memory. Write any one
Auxiliary memory in detail. 10
Auxiliary #9191 T3501 fRft @6 Auxiliary
memory & qR ¥ 7R ¥
7. a) Explain instruction pipelining in detail. 9
Instruction pipelining @ IR ¥ FTWEEYI
b) Explain Super scalar processors. 9
Super scalar processors 3 HHET
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8. Write short notes on any three of the following :

3Ix6

Preaoree & el R i Rt i)

a)
b)
c)
d)
e)
f)

Addressing modes
Cache memory
RISC and CISC
Handshaking
Stack organization
Full Adder
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